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(D) ) x;=0 /100 =0.8,0.9,1
2 Xo= G/6 =0,0.25,05,0.75, 1
(©)] ) X3=(A +2)/4=0, 0.25,0.5,0.75, 1
(@) (n X4=1/10 =04,06,08,1
(Up) (115mm)
y = (1/p )/(1/115)=115/p
3.
(
31 (6)
0 y
6 =80° ,90° ,100° ( x;=0.8, 0.9, 1)
1 ©) y (G=3, A =0 6,r=-2 2°)
X3 X4 1
(A +2)/2 r/10 x=x,=6 /100 R?
1 1 Y = -0.7501x + 0.9387 0.589
0.75 1 y = -1.2634x + 1.3713 0.886
05 1 y =-09191x + 1.0281 0.988
0.25 1 ¥ =-05017x + 0.6397 0.821
0 1 y = -0.2868x + 04287 0.812
1 0.8 y=-117x + 1.2323 0.957
0.75 0.8 y = -0.5258x + 0.6359 0.976
05 0.8 y = -1.0504x + 1.1589 0.983
0.25 0.8 Y = -04538x + 0.5974 0.992
0 0.8 ¥ = -0.6929x + 0.8006 0.969
1 0.6 y = -0.6333x + 0.7414 0.898
0.75 0.6 y = -0.693x + 0.7855 0.994
05 0.6 y = -0.3941x + 0.546 0.936
0.25 0.6 y = 0012x + 01575 0.001
0 0.6 V= -05497x + 0.6486 0.998
1 0.4 ¥ =-06571x + 0.7548 0.962
0.75 0.4 y = -0.5021x + 0.5843 0.988
05 0.4 y = -0442x + 0.5605 0.790
0.25 0.4 y = -0.6333x + 0.7278 0.999
0 0.4 y =-06335x + 0.7073 1.000
= 0.877




G=3 (

: Xo=G/6=0.5)

A= -2° ,-1° ,0° ,+1° ,+2° ( xs=(A +2)/4=0, 0.25, 0.5, 0.75, 1)
r=4,6,8, 10 ( X4=1/10= 0.4, 0.6, 0.8, 1)
60
1 Ao 20 6 3
y 1 R?(0 R* 1)
( ) Y X
1 (x3=0.25, x4=0.6) 0.877
0 vy 0
3 1
X ( 1 )
) (80° -100° )
2 (©)) y (G=3, A =0 6,r=-2 2°)
X3 X4
(N +2/2) t/10 | x=%,=G/6, x2=x*72 R? X=Xp=G/6, X2=x**2 X3=x**3 R?

1.00 1 ¥ =00844x2 - 0.0014x + 022 0346 | y=10935%3 - 1.5559x2 + 0.5864x + 01995 | 0.655
075 1 y=-01013x2 + 01959 + 01639 | 0515 | y =-00373x3 - 0.0453x2 + 0.1758x + 0.1646| 0516
050 1 y=01636x2 - 00797x + 02061 | 0.786 | y=-0522x3 + 0.9466x2 - 0.3602x + 0.2159 | 0.914
0.25 1 y=-0292x2 + 03235x + 01596 | 0.677 | y=-03305x3 + 0.2038x2 + 0.1458x + 0.1658| 0.726
0.00 1 Y =00546x2 - 0.0431x + 01939 | 0110 | y=-07516x3 + 1.182x2 - 04471x +0.208 | 1.000
100 | 080 | y=-01009x2+01897x + 01586 | 0319 | y=-00117x3 - 0.0833x2 + 0.1834x + 0.1589| 0.319
075 | 080 | y=-00112x2+01563x + 01488 | 0.652 | y=07132x3 - 1.0809x2 + 0.5397x + 0.1355 | 0.740
050 | 080 | y=00708x2+00075x + 02083 | 0.984 | y=01396x3 - 0.1389%2 + 0.0826x + 0.2057 | 1.000
025 | 080 | ¥ =00055x2 +0.069 + 0.1581 0565 | y=-08405x3 + 1.2663x2 - 0.3828x + 0.1739| 0.970
000 | 080 | y=-00628¢2+01077x + 01462 | 0314 | y=-0943x3 + 1.3517x2 - 0.3992x + 0.1639 | 0.980
100 | 060 | Y=01938x2-01355x +01917 | 0.752 | y=-02807x3 + 0.6148x2 - 0.2864x + 0.1969| 0.802
075 | 060 | ¥=00792x2 - 00744x + 01922 | 0331 | y=6E-07x3 +0.0792x2 - 0.0744x + 01922 | 0.331
050 | 060 | ¥=01638x2-00966x + 01745 | 0.159 | y=-05227x3 + 0.9479x2 - 0.3798x + 0.1843| 0.936
025 | 060 | y=-01338x2+01194x + 01713 | 0.766 | y=00637x3 - 0.2293x2 + 0.1537x + 01701 | 0.776
000 | 060 | y=00792x2-00171x + 01315 | 0521 | y=-08286x3 + 1.3224x2 - 04626x + 0.147 | 0977
100 | 040 | y=00273x2 - 00254x + 01646 | 0038 | y=-04971x3 +0.7729%2 - 0.2926x + 0174 | 0811
075 | 040 | y=-00901x2+01273x + 01232 | 0.174 | y=-11851x3 + 1.6875%2 - 0.5096x + 0.1454| 0.831
050 | 040 | y=00219x2+00431x + 01214 | 0682 | y=-05226x3 + 0.8056x2 - 0.2377x + 01312 0.927
025 | 040 | y=00983x2- 00735 + 01611 | 0914 | y=-00256x3 +01366x2 - 0.0872x + 01616 0.917
000 | 040 | y=00273x2 + 0.055x + 0.0953 0944 | y=-02169%3 + 0.3526x2 - 0.0616x + 0.0994] 0.980
= 0558 = 0.805




3.2
G [mm] y
0 15 3.0 45 6.0mm (x,=0, 0.25, 0.5, 0.75, 1)
8 90°
9 =90° ( : X,=0 /100=0.9)
A= 220 o100, 0° 410 ,+2°  (xe=(A +2)/4=0, 0.25, 0.5, 0.75, 1)
r=4,6,8, 10 (x4=r/10=0.4, 0.6, 0.8, 1)
60
2 A 20 (G)
X=X, 5
0.558
0
0.805
X
G
3.3 (A)
A0 y
A 20 10,00 ,41° ,42°  (xa=(\ +2)/4=0, 0.25, 0.5, 0.75, 1)
G
3 A) y (G=3, 6 =80 90° ,r=-2 2°)
Xy X4
0 /100| r/10 | Xx=X5=(A +2)/4, x2=x**2 R? X=Xg=(N +2)/4, X2=x**2, X3=x**3 R?
1 100 | ¥y=02622x2 - 016857x + 01409 | 0935 | y =03822x3 - 0.3111x2 + 0.0197x + 0.1338 | 1.000
1 080 | y=-01121x2 + 0.0767x + 01095 | 0583 | y=0306x3 - 0.5711x2 + 0.2412x + 01037 | 0.714
060 | Y =-01913x2 + 0.1664x + 01082 | 0.629 | y = 0.5357x3 - 0.9948x2 + 0.4543x + 0.0961 | 0.895
1 | 040 | y=-00902x2 +01084x + 0.0768 |0.309 | y = 0.3445x3 - 0.6069x2 + 0.2936x + 0.0703 | 0.506
090 | 100 | ¥ =-0022x2+00126x + 01948 |0123 | y=03802x3 - 0.5924x2 + 0.2169 + 0.1877 | 0.874
090 | 080 | ¥ =-01501x2 +01129x + 01855 | 0625 | y=-0.0892x3 - 0.0163x2 + 0.0649x + 0.1871 | 0633
090 | 060 | ¥ =-00355x2 + 0.0498x + 01668 | 0.075 | y=08282x3 - 1.2778x2 + 0495 + 01513 | 0.991
090 | 040 | y=00027%2+00001x + 0142 | 0019 | y=02423x3 - 0.3606x2 + 0.1303 + 01374 | 0.730
080 | 100 | y=-00875x2+0299x +01786 0932 | y=-0.7485x3 + 1.03532 - 0.1033x + 0.1926 | 0996
080 | 080 | y=00355x2+00112¢ + 02426 0168 | y=06614x3 - 0.9566x2 + 0.3667x + 0.2302 | 0.348
080 | 060 | ¥ =00137x2 +00312¢ + 01892 0228 | y=-0879%3 + 1.3322x2 - 0.4413x + 02057 | 0.717
080 | 040 | y=00382x2-00267x +02109 |0.082 | y=06495x3 - 0.936x2 + 0.3223x + 01987 | 0836
= 0392 = 0.770




6 =80° ,90° .100° (x;=6 /100=0.8, 0.9, 1)

G=3( : X,=G/6=0.5)
r=4,6,8, 10 (x4=r/10=0.4, 0.6, 0.8, 1)
A ( @ )
6 r 12
0
0.770
A
(n
r y

(X4=r/10=0.4, 0.6, 0.8, 1)

6 =80° ,90° .100° (x,=6 /100=0.8, 0.9, 1)
G=3( : X,=G/6=0.5)

3.2
0.392

r=4,6, 8, 10

A =20 210 ,0° ,+1° ,+2° (xs=(\ +2)/4=0, 0.25, 0.5, 0.75, 1)

4 (" y (G=8, 8 =80 90° ,r=-2 2°)
X1 X3
8 /100 [ (A +2)/4|  x=x4=r/10, X2=x**2 R?

1 1.00 Yy =0986x2 - 1.2107x + 04407 0.885

1 0.75 Y =00747x2 - 0.0173x + 0.0752 0.978

1 0.50 Y =-00747x2 + 0.0507x + 0.131 0.337

1 0.25 y = -04633x2 + 0.6905x - 0.1046 0.964

1 0.00 ¥ =0.0448x2 + 0.027x + 0.0592 0.901

0.90 1.00 y = -0.0448x2 + 0.1045x + 01227 0.184

0.90 0.75 Yy =-00437x2 + 0.1344x + 0.0917 0.998

0.90 050 y = -05225x2 + 0.8355x - 01191 0.891

0.90 0.25 Yy =-01494x2 + 0.2856x + 0.0721 0.578

0.90 0.00 y =-01195x2 + 0.2629x + 0.0468 0.882

0.80 1.00 y = 04908x2 - 0.4358x + 0.3262 0.947

0.80 0.75 Yy =07581x2 - 0.7624x + 0.377 0.847

0.80 0.50 y =-01788x2 + 0.4053x + 0.0793 0.831

0.80 0.25 ¥ =04032x2 - 0.5155x + 0.3506 0.294

0.80 0.00 y = -03581x2 + 0.5013x + 0.0529 0.643

0.930
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